%72@EEX§§§957‘*¢1&1%*%&% 2019/7/1
B M =®

L3—B | 74—YR |EBE=| HEE S| Ta—su—| mrE | ko | BN, | #xee Ee
x o) x x 1 — 3|5 — 7|12 — 14300 — 239
IA—H R 1 - 2 3 — 0 1 — 2 o — 3 (-2) ( -2 ) ( -2 ) ( 61 ) 4
2 — 4 6 — 3 — 4 1 —
61 — 78190 — 0|84 — 72|65 — 89
@) @) O X 3 — 1|8 — 4|17 — 8323 — 205
R I I 3 — 02 — 1|1 — 2| C2) | Cay| 9 ( 118 ) 2
4 —- 2 6 — 5 — 2 2 -
78 — 61 90 — 0 189 — 60]66 — 84
X X X X 0O — 4|0 — 120 — 24( 0 — 360
BB o — 3 o — 3 o — 3 o — 3 ( -4) ( -12 ) ( -24) ( -360 ) 5
EiE 0O — 901 0 — 90 0O — 9] 0 — 90
O x O x 2 — 2|6 — 6|13 — 14281 — 266
A0 — 11 = 2|3 - o — 3| o) | Co) | (-1) ( 15 ) 3
4 — 3 2 — b 6 — O 1 —
72 — 84160 — 89190 — O 59 — 93
O O O O 4 — 0|11 — 1|22 — 4356 — 190
Sp—my—| 3 — 02 — 13 — 0|3 — 0 ( 4) ( 10 ) ( 18 ) ( 166 ) 1
6 — 1 4 —- 2 6 — 6 — 1
89 — 65184 — 66]9 — O0]93 — 59

1/ 11 R—=2




RE4:

EH: HEE(L3—B)

AAES:

=i5:

D1

D2

D3

R

i)
A

EES

FN2EIXRKREEFEZF)77 ik

1 (TA—OR vs BETEIIZVIR)
IR NRAR —YE048—

L3—B
1 — 2 BEEIIZYIA
7 — 15 =R AR
5 — 15 | 2

— EER BK
7 — 15 =2H &F
12 — 15| 2

— mE B
15 — 11 Il AEF
15 — 71 0

— I FF

2/ 11 R=



REd: ENREREXREEFEF)77 i
e HAFE(L3—B)

HEES: 2 (AEAE vs 5L)

25 IFNRAR-Yts5-

L3—B
ZHE
ﬁ%@ 0 - 3 /S\Li

0 O — 15 0
D1 0 0O — 15 2

0 — 0

0 0O — 15 0
D2 0 0O — 15 2

0 — 0

0 0O — 15 0
D3 0 0O — 15 2

0 — 0

3/ 11 R=



RE4:

EH: HAE(L3—B)
BMAES: 3 (T+r—URvs TIL—A1—)

=i5:

D1

D2

D3

IR N AR =Y E4—

R

i)
A

EES

FN2EIXRKREEFEZF)77 ik

L3—B
0O — 3
11 — 15
5 — 15
1 — 9
9 — 15
3 — 9
8§ — 15
14 — 15

4 /11 R—=2

TIL—AN1)—

S/ a1hF

E B

St

e

A
A
)

MU DSHE

A %A



Ref: EFNRERRAXRES)77 ®E
B HEE(WL3—B)

AMEEE: 4 (BETEIIZYIR vs EBTE)
25 IFNRAR-YEU4-

L3—B
I
FEFHIIZYIA 3 — 0 P

0 15 — 0 0
D1 2 15 — 0 0

0 — 0

0 15 — 0 0
D2 2 15 — 0 0

0 — 0

0 15 — 0 0
D3 2 15 — 0 0

0 — 0

5/ 11 R=



Ref: EFNRERRAXRES)77 ®E
B HEE(WL3—B)

HEEE: 5 (ALvs TIL—A1—)
25 IFNRAR-YEU4-

L3—B

/S\l: 0 - 3

R fitH 9 — 15

D1 1 15 — 13
AR +F 4 — 5

e =T 11 — 15

D2 0 3 — 15

B EF —

B BEF 10 —
D3 0 7 —
2 ki —

6/ 11 R=

MU DSHE

EH Ex



R4 : ENRREREXEEFF)77 Wi

EH: HEE(L3—B)

AEHES: 6 (Jr—UR vs FHEM)

=15 IFRNRAR -Vt 49—

TH—I A

0

D1 2
0
0

D2 2
0
0

D3 2
0

15 —

15 —
15 —

15 —
15 —

7/11 R=

ZiE
EEToi




R4 : ENRREREXEEFF)77 Wi

EH: HEE(L3—B)

Aa®ES: 7 (BEEAEIIZYIA vs 5L0)

=15 IFRNRAR -Vt 49—

BEEIIZYIA

=B &T
D1
mE iR

i ==
D2
EER BR

Il AEF
D3
R EHF

15 —
15 —

15 —
15 —

11—
15 —

8/ 11 R—=

/S\ C

RE #AhtH
AR TF

finfg =L

B EF

BX BT
2 Kit



Ref: EFNRERRAXRES)77 ®E
B HEE(WL3—B)

HEES: 8 (AEA vs TIL—AR1—)
25 IFNRAR-YEU4-

L3—B
ZiE
=] 0 — 3 T)IL—A1)—

0 0O — 15 0
D1 0 0 — 15 2

0 — 0

0 0O — 15 0
D2 0 0O — 15 2

0 — 0

0 0O — 15 0
D3 0 0O — 15 2

0 — 0

9/ 11 R=



RE4:

EH: HEE(L3—B)

HEEZES: 9 (TA—U R vs AL)
IR N AR =Y E4—

=i5:

D1

D2

D3

TH—I A

AR EB

Hr FT

ING BASE

#FE BT

R MT

FN2EIXRKREEFEZF)77 ik

11—
10 —

15 —
15 —

15 —
14 —

10/ 11 R=Y

10
15

/S\ C

finfg =T

B EF

RE HBtd
BEX BT

2 Kt
AR TF



RKed: FNRERRRXEEFTI77

EH: HEEK(L3—B)

HEFS: 10 (BEEAEII=YIA vs TIL—A1)—)
215 IFNRAK-YtEv4-

L3—B

AEmIIZYIA 1 — 2 JTJIL—A1)—

=R AR 15 — 14 TGl 31hF
D1 2 15 — 10| 0

EER BXK — A %A

=l #F 12 — 15 =8 B3
D2 0 14 — 15| 2

mE B — 55H B=x

El ERF 6 — 15 INL 5%
D3 0 4 — 15 | 2

I HF — 5 &F

1M/ 11 R=



